$=1/500

B4 Y £ ¢ 200
BEEE Y 7 R —LF (BE%
> FHHHY T U —ILFITE
B (53 ik R B A5 5 A 4<F)

Ottty # 6200
EEY T ~U—ILF (BEER)
R Y T b U — LRI

(e fR Bt A5 B A £F)
$200x K+ p7

SPEEPD

$200x 75+ pTVSTa( U+

RTFE (B RIER AL {T)

a b 200
BisE Y 7 b —L3 (BERR)
FEEELY D b O — VRIS

R2BI# R bex RieH EKBIF

REEH B

PR h R AEHRET

T @ ®

|Elﬁi§| 173

ERRAEERRBRAOKERD PR >



FMERAEMEIERA sc-1/30

o4
VI RU=b

o

RELEHRL

[ —

.

R2BI# R bex RieH EKBIF

REeH X

B h S AEAKET

ERERE

BR ‘E\ﬁfé‘ 2 7 3

ERRAEERRBRAOKERD PR >







